

The Structure of Unit Group of $\mathbb{F}_{2^n}D_{14}$

A. Ashja*

Tarbiat Modares University

A. Iranmanesh*

Tarbiat Modares University

Abstract. Let RG be the group ring of the group G over ring R and $\mathcal{U}(RG)$ be its unit group. In this paper, The structure of the unit group of a group ring $\mathbb{F}_{2^n}D_{14}$ of the group D_{14} over a field of characteristic 2 is determined.

AMS Subject Classification: 16S34; 20C05; 16U60

Keywords and Phrases: Group, Ring, Unit

1 Introduction

Let RG be the group ring of group G over field F and $\mathcal{U}(FG)$ be its unit group, *i.e.*, multiplicative subgroup containing all invertible elements. The study of unit group is one of the classical topics in ring theory that started in 1940 with a famous paper written by G. Higman [10]. In recent years many new results have been achieved; However, only few group rings have been computed. Unit groups are useful, for instance in the investigation of Lie properties of group rings (for example see [2]) and isomorphism problem (for example see [3]).

Up to now, the structure of unit groups of some group rings has been found. For instance, on integral group ring [11], on permutation group ring [19], on commutative group ring [16], on linear group ring [13], on quaternion group ring [4], on modular group ring [17] and on pauli group ring [8]. In [6], the authors proved which groups can be unit groups, moreover, on properties of unit elements themselves instead of their groups structure [1].

In this paper we'll study the unit group of dihedral group ring. Till now some cases have been studied. For instance, in [12], the authors obtained $\mathcal{U}(F_2D_{2p})$, in [7], Gildea calculated the order of $\mathcal{U}(\mathbb{F}_{p^k}D_{2p^m})$ and in [9] determined the structure of the unitary units of the group algebra $F_{2^k}D_8$. In continue, the authors of [14]

Received: September 2019; Accepted: October 2019

*Corresponding Author

obtained the structure of unit groups of generalized dihedral group rings and recently in [18], the authors determined the structure of the unitary subgroup of the group algebra $\mathbb{F}_{2^n}(QD)_{16}$ where QD is a quasi dihedral group. In this paper we characterize the unit group structure of dihedral group with order 14 over any finite field with characteristic 2.

2 Preliminary and Notations

In this section, we bring some notations and lemma which we need for the proof of our main results. We denote the order of an element g in the group G by $Ord_G(g)$, the sum of all elements of subset X in ring R by \widehat{X} , i.e., $\sum_{r \in X} r$. Notice there is no need for X to be a subring or subgroup, it defines for any arbitrary subset. In group ring RG , when X be subset of all different powers of g (an element of group G), we may simply write \widehat{g} instead of \widehat{X} . Also when X be right coset of $\langle g \rangle$ with respect to h , we may write \widehat{gh} for \widehat{X} . Let $f : X \rightarrow Y$ be an arbitrary function, then $Supp_X(f) = \{x \in X | f(x) \neq 0\}$. Also, we use the following notations: $Ann_R(a) = \{r \in R | ra = ar = 0\}$, we denote a finite field of characteristic p with order p^n by \mathbb{F}_{p^n} . If E is a vector space over F , then $Dim_F(E)$ is the dimension of E over F . Let $\mathcal{U}(R)$ be the unit group of ring R , i.e., $\mathcal{U}(R) = \{u \in R | u^{-1} \in R\}$ and $J(R)$ be the jacobson radical of ring R . Now we state a useful definition and recall a lemma.

Definition 2.1. Let RG be group ring of ring R over the group G , p be a prime number and S_p be subset of all p -elements including identity element of G , i.e., $S_p = \{g \in G | \exists n \in \mathbb{Z}^{>0}; Ord_G(g) = p^n\}$. We define a binary map $T : G \rightarrow R$ as follows:

$$T(g) = \begin{cases} 1 & \text{If } g \in S_p \\ 0 & \text{If } g \notin S_p \end{cases}$$

As we know that T on G is the base of RG , so we can linearly extend it to whole RG , of course no more remains binary. Also if see elements of RG as functions from G to R , that map every group element (g) to its coefficient (r_g), then their supports will be feasible. Now we can define $Krn(T) := \{\alpha \in RG | \forall g \in G; \alpha g \in \text{Ker}_{RG}(T)\}$ and $Spr(\alpha) := \text{Supp}_G(\alpha)$. Also $Anh(a) := Ann_{RG}(a)$ and $Dmn(S) := Dim_F(S)$.

Lemma 2.2. Let F be a finite field of characteristic p , G be a finite group, T be a function defined as above and $s = \widehat{S_p}$. Then:

- (1) $J(FG) \subseteq \text{Krn}(T)$.
- (2) $\text{Krn}(T) = Anh(s)$.
- (3) $J(FG) \subseteq Anh(s)$.

Proof. [20, Lemma 2.2 on p. 151].

□

In the next section we bring our main result.

3 Unit Group of $\mathbb{F}_{2^n}D_{14}$

Let D_{2n} be Dihedral group of order $2n$, C_n be cyclic group of order n and $GL_n(R)$ be general linear group of order n on ring R . Our main result is:

Theorem 3.1. *Let G be the Dihedral group of order 14 and $F = \mathbb{F}_{2^n}$. Then the structure of $\mathcal{U}(FG)$ can be obtained as follows:*

1. **If** $n = 3m$, **Then** $\mathcal{U}(FG) = C_2^n \times C_{2^n-1} \times GL_2(F)^3$
2. **If** $n \neq 3m$, **Then** $\mathcal{U}(FG) = C_2^n \times C_{2^n-1} \times GL_2(F_3)$

Let $p = 2$, x^y be the conjugate of x by y that is $x^y = y^{-1}xy$, s be as defined in 2.2, $\langle x \rangle$ be the cyclic subgroup generated by x and $\langle x \rangle y$ be right coset of $\langle x \rangle$ with respect to y that is $\langle x \rangle y = \{x^i y \mid -3 \leq i \leq +3\}$, i.e., $\langle x \rangle y = \{x^{-3}y, x^{-2}y, x^{-1}y, y, xy, x^2y, x^3y\}$. By \widehat{x} definition, sum of different powers of x , that is $\widehat{x} = x^{-3} + x^{-2} + x^{-1} + 1 + x + x^2 + x^3$ and $\widehat{xy} = x^{-3}y + x^{-2}y + x^{-1}y + y + xy + x^2y + x^3y$, so we have:

Proposition 3.2. *Let $p = 2$ and group $G = D_{14}$, Dihedral group of order 14, that is, $D_{14} = \langle x, y \mid x^7 = y^2 = 1, x^y = x^{-1} \rangle$. Then $\text{Anh}(s) = \langle \widehat{G} \rangle$.*

Proof. It's well known that the conjugacy classes of G are as follows:

$$\begin{aligned} \mathcal{C}_0 &= \{1\} \\ \mathcal{C}_1 &= \{x^1, x^{-1}\} \\ \mathcal{C}_2 &= \{x^2, x^{-2}\} \\ \mathcal{C}_3 &= \{x^3, x^{-3}\} \\ \mathcal{C}_4 &= \langle x \rangle y \end{aligned} \tag{1}$$

It is clear that D_{14} has three types of elements: Identity, elements of form $x^i y$ with order 2 and elements of form $x^i (7 \nmid i)$ with order 7. So $S_2 = \mathcal{C}_0 \cup \mathcal{C}_4$, therefore $\widehat{S}_2 = \widehat{\mathcal{C}}_0 + \widehat{\mathcal{C}}_4 = 1 + \widehat{xy}$, sum of 2-elements including identity. Let $\alpha = \sum_{i=0}^4 \alpha_i = \alpha_0 + \alpha_1 + \alpha_2 + \alpha_3 + \alpha_4 \in \text{Anh}(s)$ where $\text{Spr}(\alpha_i) \subseteq \mathcal{C}_i$ and $s = \widehat{S}_2$. Then we have:

$$\begin{aligned} 0 = \alpha \cdot s &= (\sum_{i=0}^4 \alpha_i)(1 + \widehat{xy}) \\ &= (\alpha_0 + \alpha_1 + \alpha_2 + \alpha_3 + \alpha_4)(1 + \widehat{xy}) \\ &= (\alpha_4 + (\alpha_0 + \alpha_1 + \alpha_2 + \alpha_3))(1 + \widehat{xy}) \\ &= ((\alpha_0 + \alpha_1 + \alpha_2 + \alpha_3) + \alpha_4 \widehat{xy}) \\ &\quad + (\alpha_4 + (\alpha_0 + \alpha_1 + \alpha_2 + \alpha_3)\widehat{xy}) \end{aligned} \tag{2}$$

Notice that for every j , we know:

$$(x^j y)(\widehat{xy}) = \widehat{x} \quad \text{and} \quad (x^j)(\widehat{xy}) = \widehat{xy} \tag{3}$$

So the conjugacy classes of two last parentheses of 2 are different, since left side is zero, every parentheses should be zero separately. Hence:

$$(\alpha_0 + \dots + \alpha_3) + \alpha_4 \hat{xy} = 0 \quad \text{and} \quad \alpha_4 + (\alpha_0 + \dots + \alpha_3) \hat{xy} = 0$$

Now again by using 3 we can conclude that:

$$(\alpha_0 + \dots + \alpha_3) + \varepsilon(\alpha_4) \hat{x} = 0 \quad \text{and} \quad \alpha_4 + \varepsilon(\alpha_0 + \dots + \alpha_3) \hat{xy} = 0 \quad (4)$$

As mentioned above $\alpha = \sum_{i=0}^4 \alpha_i = \alpha_0 + \alpha_1 + \alpha_2 + \alpha_3 + \alpha_4$ where $\text{Spr}(\alpha_i) \subseteq \mathcal{C}_i$ and by definition of \mathcal{C}_i 's from 1, we can write:

$$\begin{aligned} \alpha_0 &= a_0 \\ \alpha_1 &= a_1 x^1 + a_{-1} x^{-1} \\ \alpha_2 &= a_2 x^2 + a_{-2} x^{-2} \\ \alpha_3 &= a_3 x^3 + a_{-3} x^{-3} \\ \alpha_4 &= b_{-3} x^{-3} y + b_{-2} x^{-2} y + b_{-1} x^{-1} y + b_0 y + b_1 x y + b_2 x^2 y + b_3 x^3 y \end{aligned}$$

By substitute of each α_i 's in 4, we can calculate the coefficients of each element of the group in the left sides of equations and since right sides are zero, so each coefficient must be zero too. Therefore, for every i and j , we have:

$$\begin{aligned} a_i + \varepsilon(\alpha_4) &= 0 & b_j + \sum_{i=0}^3 \varepsilon(\alpha_i) &= 0 \\ a_i &= -\sum_{j=-3}^{+3} b_j & b_j &= -\sum_{i=-3}^{+3} a_i \\ a_{-3} &= \dots = a_0 = \dots = a_3 & b_{-3} &= \dots = b_0 = \dots = b_3 \\ a_i &= -7b_j & b_j &= -7a_i \end{aligned}$$

Since we deal with a field of characteristic 2, so $-7 = 1$, therefore, for every i and j , we have $a_i = b_j$, thus $\alpha = a_0 \cdot \hat{G}$ and therefore:

$$\text{Anh}(s) = \langle \hat{G} \rangle$$

□

Let s be as was in 3.2, that is $s = \hat{S}_2$, then we have:

Proposition 3.3. $\text{Anh}(s)$ is a nilpotent ideal.

Proof. Let $\alpha, \beta \in \text{Anh}(s)$, according to 3.2:

$$\alpha \cdot \beta = a \hat{G} \cdot b \hat{G} = ab \cdot \hat{G} \hat{G} = ab | G | \hat{G}$$

Since F is a field of characteristic 2, and G has 14 elements, that is, $|G| = 14 = 0$, so $\alpha \cdot \beta = 0$, thus $\text{Anh}^2(s) = 0$, therefore, $\text{Anh}(s)$ is a nilpotent ideal.

□

Let s be as was in 3.3, that is $s = \hat{S}_2$, then we have:

Proposition 3.4. $\text{Anh}(s) \subseteq J(FG)$.

Proof. Since every nilpotent ideal is a nil ideal, so 3.3 shows $\text{Anh}(s)$ is a nil ideal. On the other hand, by [15, Lemma 2.7.13 on p. 109], Jacobson radical contains all of the nil ideals, so:

$$\text{Anh}(s) \subseteq J(FG)$$

□

In the next corollary, we'll show that the equality hold:

Corollary 3.5. $J(FG) = \text{Anh}(s)$.

Proof. By 3.4, $\text{Anh}(s) \subseteq J(FG)$ and we know from 2.2 part (3) that $J(FG) \subseteq \text{Anh}(s)$, so the equality is hold:

$$J(FG) = \text{Anh}(s)$$

□

We'll need the following proposition in the next steps:

Proposition 3.6. $\text{Dmn}(J(FG)) = \text{Dmn}(\text{Anh}(s)) = 1$

Proof. By 3.2 and 3.5 we have:

$$J(FG) = \text{Anh}(s) = \langle \widehat{G} \rangle \quad (5)$$

That means, $J(FG)$ and $\text{Anh}(s)$ are generated by one element \widehat{G} , hence:

$$\text{Dmn}(J(FG)) = \text{Dmn}(\text{Anh}(s)) = 1$$

□

Let $H := \langle x \rangle = \{x^{-3}, x^{-2}, x^{-1}, 1, x, x^2, x^3\} \trianglelefteq G$, a normal subgroup of G . Also we recall augmentation ideals $\Delta(G, H) := \langle h - 1 \mid h \in H \rangle$, that in special case $H = G$, we denote $\Delta(G) := \Delta(G, G)$. Now it's obvious that by [15, Proposition 3.3.3 on p. 135], we have:

$$\text{Dmn}(\Delta(G, H)) = |G| - [G : H] = 14 - 2 = 12$$

$$\text{Dmn}(\Delta(G, G)) = |G| - [G : G] = 14 - 1 = 13$$

Therefore we can bring the following remark:

Remark 3.7. Dimensions of $\Delta(G, H)$ and $\Delta(G)$ can be computed as follows:

$$\text{Dmn}(\Delta(G, H)) = 12$$

$$\text{Dmn}(\Delta(G, G)) = 13$$

We want to represent a decomposition for $\Delta(G)$ over $J(FG)$ and $\Delta(G, H)$. As both of them are included in $\Delta(G)$, first we show they are disjoint:

Proposition 3.8. $J(FG) \cap \Delta(G, H) = 0$.

Proof. Let $\alpha \in J(FG) \cap \Delta(G, H)$. By 5, $J(FG) = \langle \widehat{G} \rangle$. Now we compute $\alpha \cdot \widehat{x}$ in two different ways, according to see α as an element of $J(FG)$ or $\Delta(G, H)$ separately:

$$\begin{array}{ll} \alpha \in J(FG) = \langle \widehat{G} \rangle & \alpha \in \Delta(G, H) = \langle x - 1 \rangle \\ \alpha = a \cdot \widehat{G} & \alpha = \beta(x - 1) \\ a\widehat{x} = a\widehat{G}\widehat{x} = a\widehat{G}|\langle x \rangle| & a\widehat{x} = \beta(x - 1)\widehat{x} = \beta(x\widehat{x} - 1\widehat{x}) \\ = a \cdot \widehat{G} \cdot n = a \cdot \widehat{G} = \alpha & = \beta \cdot (\widehat{x} - \widehat{x}) = \beta \cdot 0 = 0 \end{array}$$

So we conclude that:

$$\alpha = \alpha \cdot \widehat{x} = 0 \quad (6)$$

And therefore we have:

$$J(FG) \cap \Delta(G, H) = 0$$

□

Now the decomposition can be achieved:

Proposition 3.9. $\Delta(G) = J(FG) \oplus \Delta(G, H)$.

Proof. By 3.6 and 3.7, we have:

$$\text{Dmn}(J(FG)) + \text{Dmn}(\Delta(G, H)) = 1 + 12 = 13 = \text{Dmn}(\Delta(G))$$

Now 3.8 together with above equality shows that:

$$\Delta(G) = J(FG) \oplus \Delta(G, H)$$

□

In the next Proposition, we prove that $\Delta(G, H)$ is a semisimple ring:

Proposition 3.10. $\Delta(G, H)$ is a semisimple ring.

Proof. By 3.9, we have $\Delta(G, H) = \Delta(G)/J(FG) \subseteq FG/J(FG)$. And moreover with [15, Theorem 6.6.1 on p. 214] any field over a finite group makes an Artinian group ring, so FG is an Artinian group ring, and [15, Lemma 2.4.9 on p. 87], implies its quotient ring, $FG/J(FG)$, is Artinian too. By [15, Lemma 2.7.5 on p. 107] we know Jacobson radical vanishes, $J(FG/J(FG)) = 0$. By [15, Theorem 2.7.16 on p. 111] we can explore that $FG/J(FG)$ is semisimple, and by [15, Proposition 2.5.2 on p. 91], all of its subrings are semisimple too. So $\Delta(G, H)$ is semisimple.

□

By Artin-Wedderburn Theorem, $\Delta(G, H)$ decomposes to its simple components that are division rings of matrices over extensions of F . Now we need to know their numbers and dimensions. First we show that the center of $\Delta(G, H)$ is included in the center of FG :

Proposition 3.11. $Z(\Delta(G, H)) \subseteq Z(FG)$

Proof. For the proof of this proposition, we need show that each element of $Z(FG)$ must commute with all of elements of FG . Since F is commutative and G is generated by x and y , so it suffices to show they commute with x and y . Let $\alpha \in Z(\Delta(G, H))$, so it commutes with $x - 1$ as it is in $\Delta(G, H)$:

$$\begin{aligned}\alpha.(x - 1) &= (x - 1).\alpha \\ \alpha.x - \alpha &= x.\alpha - \alpha \\ \alpha.x &= x.\alpha\end{aligned}$$

So α commutes with x . Now we show that α also commutes with y . First we show that $\alpha y - y\alpha$ is in $\text{Anh}(x - 1)$. Notice we know that $(x - 1)y = y(x^{-1} - 1) \in \Delta(G, H)$, so:

$$\begin{aligned}(x - 1)y &\in \Delta(G, H) & y(x - 1) &\in \Delta(G, H) \\ \alpha.(x - 1).y &= (x - 1).y.\alpha & \alpha.y.(x - 1) &= y.(x - 1).\alpha \\ (x - 1).\alpha y &= (x - 1).y\alpha & \alpha y.(x - 1) &= y\alpha.(x - 1) \\ (x - 1)(\alpha y - y\alpha) &= 0 & (\alpha y - y\alpha)(x - 1) &= 0\end{aligned}$$

So $(\alpha y - y\alpha) \in \text{Anh}(x - 1)$ and by [15, Lemma 3.4.3 on p. 139] we know that:

$$\text{Anh}(x - 1) = \text{Anh}(\Delta(G, H)) = FG\hat{x}$$

Now we compute $(\alpha y - y\alpha).\hat{x}$ in two different ways, directly itself or see $(\alpha y - y\alpha)$ as an element of $FG\hat{x}$ separately. At first we compute it directly. Before that notice $\alpha \in Z(\Delta(G, H)) \subseteq \Delta(G, H)$, so by 6, $\alpha.\hat{x} = 0$, and although x does not commute with y , but \hat{x} does. So we have:

$$(\alpha y - y\alpha).\hat{x} = \alpha.y.\hat{x} - y.\alpha.\hat{x} = \alpha\hat{x}.y - y.\alpha\hat{x} = 0.y - y.0 = 0$$

Now we compute it according to see $(\alpha y - y\alpha)$ as an element of $FG\hat{x}$. Before that notice $|\langle x \rangle| = \text{Ord}_G(x) = 7 = 1$. So we have:

$$(\alpha y - y\alpha).\hat{x} = \beta.\hat{x}.\hat{x} = \beta.\hat{x}.|\langle x \rangle| = \beta\hat{x} = (\alpha y - y\alpha)$$

Hence $\alpha y - y\alpha = (\alpha y - y\alpha).\hat{x} = 0$, thus $\alpha y = y\alpha$, that means α also commutes with y and therefore:

$$Z(\Delta(G, H)) \subseteq Z(FG)$$

□

In the next proposition, we obtain the exact structure of $Z(\Delta(G, H))$:

Proposition 3.12. $Z(\Delta(G, H)) = \langle \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3 \rangle$

Proof. Let $\alpha \in Z(\Delta(G, H))$, from [15, Theorem 3.6.2 on p. 151] we know center on conjugacy classes, $Z(FG) = \langle \widehat{\mathcal{C}}_0, \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3, \widehat{\mathcal{C}}_4 \rangle$, so $Z(\Delta(G, H)) \subseteq \langle \widehat{\mathcal{C}}_0, \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3, \widehat{\mathcal{C}}_4 \rangle$, by using 3.11. So $\alpha = \sum_{i=0}^4 r_i \widehat{\mathcal{C}}_i = r_0 \widehat{\mathcal{C}}_0 + r_1 \widehat{\mathcal{C}}_1 + r_2 \widehat{\mathcal{C}}_2 + r_3 \widehat{\mathcal{C}}_3 + r_4 \widehat{\mathcal{C}}_4$. By 6, $\alpha.\hat{x} = 0$ and notice that $x^{\pm i}\hat{x} = \hat{x}$, so $(x^i + x^{-i})\hat{x} = 2\hat{x} = 0$. Hence:

$$\begin{aligned}0 &= \alpha\hat{x} = \sum_{i=0}^4 r_i \widehat{\mathcal{C}}_i \hat{x} = r_0 \widehat{\mathcal{C}}_0 \hat{x} + \left(\sum_{i=1}^3 r_i \widehat{\mathcal{C}}_i \hat{x} \right) + r_4 \widehat{\mathcal{C}}_4 \hat{x} \\ &= r_0.1.\hat{x} + \left(\sum_{i=1}^3 r_i (x^i + x^{-i})\hat{x} \right) + r_4 \widehat{xy}\hat{x} = r_0\hat{x} + 0 + r_4\widehat{xy}\end{aligned} \tag{7}$$

Since left side of 7 is zero, so right side coefficients should be zero, $r_0 = r_4 = 0$, hence, $\alpha = \sum_{i=1}^3 r_i \widehat{\mathcal{C}}_i = r_1 \widehat{\mathcal{C}}_1 + r_2 \widehat{\mathcal{C}}_2 + r_3 \widehat{\mathcal{C}}_3$, that means $Z(\Delta(G, H)) \subseteq \langle \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3 \rangle$. Now it suffices to show that all of these types of elements are included in $\Delta(G, H)$. We must show that there is a β that $\alpha = \beta(x - 1)$. It is straightforward to find β 's coefficients by solving a system of linear equations. For $\alpha = \beta(x - 1)$:

$$\beta = r_1x + (r_1 + r_2)x^2 + (r_1 + r_2 + r_3)x^3 + (r_1 + r_2)x^4 + r_1x^5$$

So $\alpha \in \Delta(G, H)$, and therefore:

$$Z(\Delta(G, H)) = \langle \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3 \rangle$$

□

Now the dimension of the center of $\Delta(G, H)$ can be computed:

Corollary 3.13. $\text{Dmn}(Z(\Delta(G, H))) = 3$

Proof. By 3.12, we know that $Z(\Delta(G, H)) = \langle \widehat{\mathcal{C}}_1, \widehat{\mathcal{C}}_2, \widehat{\mathcal{C}}_3 \rangle$, so:

$$\text{Dmn}(Z(\Delta(G, H))) = 3$$

□

Let $M_n(R)$ be the ring of the square matrices of the order n on the ring R and $GL_n(R)$ be its unit group. Also R^n be the direct sum of n copy of the ring R , i.e., $R^n = \bigoplus_{i=1}^n R$ and F_n be the extension of the finite field F of the order n that is $[F_n : F] = n$. Now we are ready to prove 3.1:

Proof. [Proof of 3.1] Let $\alpha \in Z(\Delta(G, H))$. From 3.12, we know elements of center on conjugacy classes, $\alpha = \sum_{i=1}^3 r_i \widehat{\mathcal{C}}_i = r_1 \widehat{\mathcal{C}}_1 + r_2 \widehat{\mathcal{C}}_2 + r_3 \widehat{\mathcal{C}}_3$. Since $\text{char}(F) = 2$, we have:

$$\begin{aligned}\alpha^1 &= r_1^1 \widehat{\mathcal{C}}_1 + r_2^1 \widehat{\mathcal{C}}_2 + r_3^1 \widehat{\mathcal{C}}_3 \\ \alpha^2 &= r_1^2 \widehat{\mathcal{C}}_2 + r_2^2 \widehat{\mathcal{C}}_3 + r_3^2 \widehat{\mathcal{C}}_1 \\ \alpha^4 &= r_1^4 \widehat{\mathcal{C}}_3 + r_2^4 \widehat{\mathcal{C}}_1 + r_3^4 \widehat{\mathcal{C}}_2 \\ \alpha^8 &= r_1^8 \widehat{\mathcal{C}}_1 + r_2^8 \widehat{\mathcal{C}}_2 + r_3^8 \widehat{\mathcal{C}}_3\end{aligned}$$

Since $|F| = 2^n$, we know $r_i^{2^n} = r_i$, so $\alpha^{2^n} = r_1 \widehat{\mathcal{C}}_1^{2^n} + r_2 \widehat{\mathcal{C}}_2^{2^n} + r_3 \widehat{\mathcal{C}}_3^{2^n}$. Therefore by 3.7 and 3.13, we conclude that if 3 divides n , then $\alpha^{2^n} = \alpha$ and else $\alpha^{2^{3n}} = \alpha$. Therefore we have:

$$\begin{aligned}\text{If } n = 3m, \quad \text{Then } \alpha^{2^n} &= \alpha \quad \text{So } \Delta(G, H) \cong M_2(F)^3 \\ \text{If } n \neq 3m, \quad \text{Then } \alpha^{2^{3n}} &= \alpha \quad \text{So } \Delta(G, H) \cong M_2(F_3)\end{aligned}$$

By [15, Proposition 3.6.7 on p. 153], we know $FG \cong F(G/H) \oplus \Delta(G, H)$, and therefore, $\mathcal{U}(FG) \cong \mathcal{U}(F(C_2)) \times \mathcal{U}(\Delta(G, H))$. As $\mathcal{U}(F(C_2))$ was described in the [5, Theorem 1.7 on p. 239], we have:

$$\mathcal{U}(FG) = \begin{cases} C_2^n \times C_{2^n-1} \times GL_2(F)^3 & q = 3m \\ C_2^n \times C_{2^n-1} \times GL_2(F_3) & q \neq 3m \end{cases}$$

□

4 Conclusion

One of the important research works in group ring is obtaining the structure of unit group of some finite group rings. In this paper, we deal with the finite field of even order and we can obtain the structure of unit group of $\mathbb{F}_{2^n}D_{14}$.

Acknowledgements

We would like to thank prof. Ali Rajaei, for his helpful guidance. Also the authors are much grateful to the anonymous referee for his/her valuable comments on our paper, which have considerably improved the presentation of this paper.

References

- [1] G.K. Bakshi, S. Maheshwary, I.B.S. Passi: Integral group rings with all central units trivial. *Journal of Pure and Applied Algebra.* **221**(8), 1955–1965 (2017)
- [2] A. Bovdi, J. Kurdics: Lie properties of the group algebra and the nilpotency class of the group of units. *Journal of Algebra.* **212**(1), 28–64 (1999)
- [3] L. Creedon: The unit group of small group algebras and the minimum counterexample to the isomorphism problem. *Int. J. Pure Appl. Math.* **49**(4), 531–537 (2008)
- [4] L. Creedon, J. Gildea: Unitary units of the group algebra $\mathbb{F}_{2^k}q_8$. *International Journal of Algebra and Computation.* **19**(2), 283–286 (2009)
- [5] L. Creedon, J. Gildea: The structure of the unit group of the group algebra. *Canadian Mathematical Bulletin.* **54**(2), 237–243 (2011)
- [6] C. Davis, T. Occhipinti: Which finite simple groups are unit groups. *Journal of Pure and Applied Algebra.* **218**(4), 743–744 (2014)
- [7] J. Gildea: On the order of $\mathcal{U}(\mathbb{F}_{p^k}d_{2p^m})$. *Int. J. Pure Appl. Math.* **46**(2), 267–272 (2008)
- [8] J. Gildea: The structure of the unit group of the group algebra of pauli’s group over any field of characteristic 2. *International Journal of Algebra and Computation.* **20**(05), 721–729 (2010)
- [9] J. Gildea: The structure of the unitary units of the group algebra $f_{2^k}d_8$. *Int. Electron. J. Algebra.* **9**, 171–176 (2011)
- [10] G. Higman: The units of group-rings. *Proceedings of the London Mathematical Society.* **2**(1), 231–248 (1940)
- [11] E. Jespers, M. Parmenter: Units of group rings of groups of order 16. *Glasgow Mathematical Journal.* **35**(3), 367–379 (1993)

- [12] K. Kaur, M. Khan: Units in f_2d_{2p} . *Journal of Algebra and Its Applications.* **13**(02), 1350090 (2014)
- [13] S. Maheshwari, R. Sharma: The unit group of group algebra $\mathbb{F}_qsl(2, \mathbb{Z}_3)$. *Journal of Algebra Combinatorics Discrete Structures and Applications.* **3**(1), 1–6 (2016)
- [14] N. Makhijani, R. Sharma, J. Srivastava: The unit group of finite group algebra of a generalized dihedral group. *Asian-European Journal of Mathematics.* **7**(02), 1450034 (2014)
- [15] C.P. Milies, S.K. Sehgal, S. Sehgal: An introduction to group rings, vol. 1. *Springer Science & Business Media* (2002)
- [16] T.I. Nezhmetdinov: Groups of units of finite commutative group rings. *Communications in Algebra.* **38**(12), 4669–4681 (2010)
- [17] Z. Raza, M. Ahmad: On the unitary units of the group algebra $\mathbb{F}_{2^m}m_{16}$. *Journal of Algebra and Its Applications.* **12**(08), 1350059 (2013)
- [18] Z. Raza, M. Ahmad: Structure of the unitary subgroup of the group algebra $\mathbb{F}_{2^n}(qd)_{16}$. *Journal of Algebra and Its Applications.* **17**(04), 1850060 (2018)
- [19] R. Sharma, J. Srivastava, M. Khan: The unit group of fa_4 . *Publ. Math. Debrecen.* **71**(1-2), 21–26 (2007)
- [20] G. Tang, Y. Wei, Y. Li: Unit groups of group algebras of some small groups. *Czechoslovak Mathematical Journal.* **64**(1), 149–157 (2014)

Ali Ashja'

Department of Mathematics
Ph.D student of Mathematics
Tarbiat Modares University
Tehran, Iran
E-mail: ali.ashja@modares.ac.ir

Ali Iranmanesh

Department of Mathematics
Professor of Mathematics
Tarbiat Modares University
Tehran, Iran
E-mail: iranmana@modares.ac.ir